What does the following program print to the console, assuming that the user
input is as follows: 100 100 100?

Triangle.java |

| import java.util. Scanner;
| public class Triangle {

| doublc[] angles = new double[3]:

| Stang type = "Unknown™;

| Trangle() {

Scanner input = new Scanner(Systent.in); gl
setAngles(input.nextDouble(), input.nextDouble(), input.nextDouble()); | ¢ ek

]
L]

Trangle(double al, double a2. double al3) {
setAngles(al, a2, a3);

Triangle(double([] a, boolean copy) {
if (a.length == 3) {
if(cop.\') { e 5.
setAngles(a[0), a[1]. a[2]):
Y oelse |

angles = a;

|
i

]

|

clse
sctAngles(60,60,60);
i
void setAngles(double al, double a2, double a3) {
if (al + a2 +a3 ==180) {
angles[0] = al;
angles[1] = a2;
angles[2] = a3;
} else |{
angles[0] = 90;
angles[1] = 60;
angles[2] = 30;
)
}
void setType() {
iftangles[0]<90 && angles[1]<90 && angles[2]<90)
type="Acute";
clse
Hiany o,
clse ype="Obtusc";
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- MainClass.java
pusliic class MainClass |
public

static void main(String[] args) !
couble [1d = {60, 80, 40!:
- - nangle t1 = new Triangle();
B o tsaType(); afetr 27! st
'& Trizngle 12 = new Triangle(30, 100, 50);
eneae ~12.5¢tType();

,l Tn'.znglc t3 = new Triangle(d, falsc);—+
1| Trizngle t4 = new Triangle(d, true);

Ig d[0]=1000;

‘ Ss'f-tf:m.om.println{tl.zng!cs{0]~" "+tl.angles[1]+" “+tl.angles[2]+" "+t].type):

1 S)'.stcm.oux.pqni]n(ll.anglcs[o]*'-" "+12angles[1]+" "+12.angles[2]+" "+12.15pc):
System.out.primin( t3.angles[0]+" "+t3.angles[1]+" "+t3.angles[2]+" "=t3.03pe);

\ 5}'51t.°m.oul.p:‘intln(l-!.:mglcs[f}]*-" "+td.angles[1]+" "+td.angles[2]+" "+td.03pc). /
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